Subject: Re: Can't suppress 0 on AXIS call
Posted by OM on Mon, 06 Jan 2014 12:27:54 GMT

View Forum Message <> Reply to Message

Here is a typical plotting code for one of the plots to the left of the first one (this is of course all
done using !p.multi; the first object of the xtickname array is a blank space):

LEFT=0.35
RIGHT=0.65
BOTTOM=0.3
TOP=0.9

cgplot, t[w],ymm][3,w],/ylog,thick=7,linestyle=4,color=192,xstyle=9,x
range=[0,14],ystyle=1,yrange=[1.e-4,2.e-2],charsize=sh,chart hick=ch,xtickformat=
"(Al1)"ytickformat="(A1)",pos=[LEFT,BOTTOM,RIGHT, TOP]

for i=0,2 do cgoplot, tfw],ymml[i,w],thick=7 linestyle=i+1,color=col[i]
axis,xaxis=1,xrange=[0,14],xstyle=1,xtickv=ts,xtickname=['

" string(rss[1],format="(D0.1)"),strtrim(string(rss[2:6],for
mat="(1)"),2)],xticks=8,charsize=sh,charthick=ch
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